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UPSC MAINS GENERAL STUDIES PAPER 1 (GS1) PAPER

Time Allowed: 3 Hours Maximum Marks: 250

There are TWENTY questions printed both in HINDI and in ENGLISH.

¢ Allquestions are compulsory.

e Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

e Keep the word limit indicated in the questions in mind.

1. HIARH W IW-ARF F1ar a& gfow AR s a7 & afeq Rad=t F @ifea fifaw)
(38X 150 ersgi F fSw)

Underline the changes in the field of society and economy from the Rig Vedic to the later
Vedic period. (Answer in 150 words) 10

2. AT 9RE # FaT T Wfeed & R 7 Fdt & Toadl & A9EE F1 Hedidd HiioCl
@R 150 2rsaT A &IfS0)

Estimate the contribution of Pallavas of Kanchi for the devélopment of art and literature of
South India. (Answer in 150 words) 10

3. &ﬁa—@ﬂmﬁﬁmwmmﬂmgﬁgmmqﬁmﬁﬁmaﬁﬁm
(39X 150 et H &ifSw)

What were the events that led to the Quit India Movement? Point out its results.

(Answer in 150 words) 10

4. WHA WAE & ANAT H g FA1 §2Ig IWrEfeaty gwaral & fAdor # F{ genfa
FIaT 82 (39X 150 ereal & dfSw)

Whatis sea surface temperature rise? How does it affect the formation of tropical cyclones?

(Answer in 150 words) 10




10.
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B At A gore F 73 AT HF vt F wF wwfa w2 Remwehe 2t &

Rufaat & 3mals & sudhr Ragar fifsw (39T 150 Asal & AfSw)
Why do large cities tend to attract more migrants than smaller towns? Discuss in the light
of conditions in developing countries. (Answer in 150 words) 10
‘SIE e @ IRUTAT FAT §2 qrEdr i (39T 150 UAeal &
difsre)

What is the phenomenon of 'cloudbursts? Explain. (Answer in 150 words) 10

‘Sawieaha fa (A Reex) f Iauron Fa1 P2 FT IF giaar A Rufy fr v

IR 22 RATaR | TaEv) (39X 150 rea) # &fSw)
Whatis the concept of a'demographic winter'? Is the world moving towards such a situation?
Elaborate. (Answer in 150 words) 10

dRrF waTean, e Avqarar va AR FAFaEIor F T IR/ B TUse AT FEAFA
A RFedar IR FRTTaas # e TR F oo F @ F741 Ageaqor 72
(3R 150 ersal H Afaw)

Distinguish between gender equality, gender equity and women's empowerment. Why is it
important to take gender concerns into account in programme design and implementation?
(Answerin 150 words) 10

AT WEATTS-3F 987 arell Sfadt & e ey e $o & aF @ 2, g
IFauTis Rarl F e & ag 7 9 &1 @ fifew) @R 150 ereaY # &)

Inter caste marriages between castes which have socio-economic parity have increased, to
some extent, but this is less true of interreligious marriages. Discuss.

(Answerin 150 words) 10

e & amfow-anfds geet & Aved § WFR, -wWFd Foreal va fash &=t < &
& yeR F1 AT warts IgAet e (R 150 ereal & &faw)

In dealing with socio-economic issues of development, what kind of collaboration between
government, NGOs and private sector would be most productive?

(Answer in 150 words) 10
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"gTellieh T drer AEF e Fleg A & Afker AR Fer T AEGFT F AT H Ipee
syateudl & HRoT eft o 3 Wy A & Ire Frar sar @1t ool fifdrel
(3WX 250 2rsal # o)

"Though the great Cholas are no more yet their name is still remembered with great pride
because of their highest achievements in the domain of art and architecture.” Comment.

(Answer in 250 words) 15

g FeAl Hel d& 3 ¢ F T Rragey Aaa: aFa-Aqed & aaT @ F AT o
I=AT AT? (3T 250 ereat #H &ifSw)

How faris it correct to say that the First World War was fought essentially for the preservation

of balance of power? (Answer in 250 words) 15

AR & gEafded IR TR 3@ & g & AT gvds A siq@fe wifea Fa1 aF
IRerT 42 (3T 250 ersei # &)
How far was the Industrial Revolution in England responsible for the decline of handicrafts

and cottage industries in India? (Answer in 250 words) 15

e G Y s{erer aTHAT H MR FRrEe 3 W@ F1 IE AR A FET FET F FA wifad
HT THhdl § 2 @ 250 eregl & &fSw)

The groundwater potential of the gangetic valley is on a serious decline. How may it affect

the food security of India? (Answer in 250 words) 15

IR Jreefow 3 RN e w=r 23 F9 3R g &2
(39X 250 2>sal A AfAT)
What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words ) 15

efarer a1 g2 AfFEd A @ F Eaw F A A AVFR cfarer w0 @ I 82
(35X 250 grear & i)

What is a twister? Why are the majority of twisters observed in areas around the Gulf of

Mexico?

(Answer in 250 words) 15
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& AT F41 32 9% Rfduar ¥ fFa v @ew 2 0Ra F & srwererar w1 Hear
fraeT iR 22 (3 250 ersgi & &f9w)

What is regional disparity? How does it differ from diversity? How serious is the issue of

regional disparity in India? (Answer in 250 words) 15

AT 3R WOE A A NS Alfadl § aaeg, I aF aRd Fet s afRue
ZaRT IREfoud FFRIcA® FNATE HT Q0 @19 51 fAa @ g1 Roaoft Hifsrw
(3 250 2rset H )

Despite comprehensive policies for equity and social justice, underprivileged sections are
not yet getting the full benefits of affirmative action envisaged by the Constitution.

Comment. (Answer in 250 words) 15

dedieor o Rffew aoit # e, o @ sRaRa aRenst g@Err wwd v F ggfr #
g1 39 g F 39 AP FaIar vF IRAR F WY Ul 9T FAT GHE ST 22
(37X 250 2rset # difSw)

Globalization has increased urban migration by skilled, young, unmarried women from
various classes. How has this trend impacted upon their personal freedom and relationship

with family? (Answer in 250 words) 15

59 HBAT T HeTAHF FRawr AT B oRa o wieglow ARva ik awie-
s ATt & ST vF T qeEey ¢l (39X 250 ersel &/ fw)

Critically analyse the proposition that there is a high correlation between India's cultural

diversities and socio-economic marginalities.
(Answer in 250 words) 15



